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QUESTION 1

USER A grants a privilege to USER B, and USER B grants the same to USER C afterwards. What happens if you drop
USER B from the HANA database?

A. The privilege remains assigned to both USER A and USER C.
B. The privilege is revoked from USER A, but not USER C.

C. The privilege is revoked from both USER A and USER C.

D. The privilege is revoked from USER C, but not USER A.

Correct Answer: D

QUESTION 2

Which system privilege must you have to restrict features for tennant databases in the SAP HANA cockpit?
Please choose the correct answer.

A. INFILE ADMIN

B. WORKLOAD ADMIN

C. DATABASE ADMIN

D. RESOURCE ADMIN

Correct Answer: A

QUESTION 3

Which migration features are supported when using the Database Migration Option (DMO) feature of SAP Software
Update Manager (SUM)? There are 2 correct answers to this question.

A. The source and target database system are of the same type

B. The Primary Application Server can be moved to a target system Landscape
C. The target database is SAP Adaptive Server Enterprise (ASE)

D. The source system is Application Server (AS) Java-base

Correct Answer: BC

QUESTION 4

Which statement is wrong regarding Operational Data Marts? Please choose the correct answer. Response:
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A. Views calculate results for reports in real time on the actual operational data

B. No transformation during load step (only selection of relevant data if applicable)
C. Real-time replication of time critical data (SLT/SRS)

D. Typically contains no time critical data and therefore utilize traditional ETL

Correct Answer: D

QUESTION 5

You are installing SAP HANA for productive usage, but the installation stops because the hardware check failed. How
do you resolve this issue? Please choose the correct answer. Response:

A. Use a hardware configuration listed in the Product Availability Matrix.
B. Add an additional scale-out node to your hardware configuration.

C. Run the HanaHwCheck.py script before resuming the installation.

D. Disable the hardware check before starting the installation.

Correct Answer: A
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